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= 126, 079]
OISOt E L0l A0F 2= HIX& 245, 045 245, 045 0
308 X HHMSOIH 245, 045 245, 045 0
01 RXXSMBIAESEZ 245, 045 245, 045 0
O0I%0t 2 SEH0I40F 2/ 2H X2
350, 064, 000& *70% = 245, 045
[D] 140, 026]
= 105, 019]
& oelo] HZZAXA 255, 064 382, 596 A127,532
308 AXHHMSOIA 255, 064 382, 596 N127,532
01 AXNHHBAEXES 255, 064 382, 596 AN127,532
OW& Helol HLSEALY 510, 128, 000& *50% = 255, 064
[D] 255, 064]
AT R0t ESILAS 628, 875 547,878 80, 997
308 AXIHMS0IH 628, 875 547,878 80, 997
01 XXSMBIAESEZ 628, 875 547,878 80, 997
Ot R0t ESI LAY 838,500, 0002 *75% = 628, 875
[J] 419, 250]
(& 209, 625]
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SA 2 AR M}
X XH: R
(=l

A =2 A0 RMHIA 2E
CHol: A= 25 (S Ml
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2

Ao HZHEHAL X2 4,315 14, 000 A9, 685
308 A HHSOIH 4,315 14, 000 A9, 685
01 AXEHIESEXS 4,315 14, 000 A9, 685

Odldor g2 4,315, 0002 13104 & = 4,315

(D] 2, 466]

== 1, 849]
EYRE NIAMY 834, 609 842, 868 A8, 259
308 AAHHSOIH 834, 609 842, 868 A8, 259
01 MXEH3dd= 834, 609 842, 868 A8, 259

O=g&8% N& , 192, 298, 000& *70% = 834, 609

[= 596, 129]

== 238, 480]
A2 A0 =01 X 729,914 729,914 0
308 AXHHMSOIH 729,914 729, 914 0
01 NMXEHISdE X 729,914 729,914 0

Out2 Aot =00 X 811,015, 0002 *90% = 729,914

[= 648, 813]

== 81,101]
g DIIBAE K& 1,653,912 1,563,912 100, 000
308 AHXHHMSOIE 1,553,912 1,553,912 0
01 MAEHIdELS 1,553,912 1,553,912 0

Og =JIZLAL = 1,583,912

(D] 1,109, 937]

== 443, 975]
402 eI2tXt=01d 100, 000 0 100, 000
01 2= x 100, 000 0 100, 000

O AEASAES U7 = 100, 000
g og2el X 105, 780 105, 780 0
308 AHXHHMSOIH 105, 780 105, 780 0
01 XXNEHBLEXS 105, 780 105, 780 0

O Ml Atd 211, 560, 0002 #50% = 105, 780

(2] 105, 780]
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35 A et ooz Hus 7=
CHol: A= 25 (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
2EA XIZHl K& 1,099, 244 1,099, 244
308 XAXHHMSOIA 1,099, 244 1,099, 244 0
01 XXHMBAEXEFZ 1,099, 244 1,099, 244 0
O&tk XIZ K& 1, 570, 348, 0002 *70% = 1,099, 244
[7] 785, 174]
== 314, 070]
ZHEelY 2IAME K& 1, 436, 903 1, 436, 903 0
308 KAXHHMSOIA 1, 436, 903 1,436, 903 0
01 XXHMBLAEEZ 1, 436, 903 1, 436, 903 0
Oo3dEele 29 1,915, 870, 0002 *75% = 1,436,903
[D] 957, 935]
== 478, 968]
NSGASI S THEAY K& 41,200 41, 200 0
308 AXHHMSOIA 41,200 41, 200 0
01 XXHMBAEEFZ 41,200 41,200 0
OXNSASZSA MEAY 41,200, 000& *2I0 £ *50% = 41,200
(DI 41, 200]
UE2EHAE XA 2,805,924 987, 845 1,818,079
308 AR HHMSOIH 2,805,924 987, 845 1,818,079
01 RXSMBIAEEZ 2, 805, 924 987, 845 1,818,079
OYd=82Ae K& 4, 316, 806, 000& *65% = 2,805,924
[D] 2,158, 403]
== 647, 521]
FUHLSAME 2EXA 50, 000 109, 875 A 59, 875
308 AXIHMS0IH 50, 000 109, 875 AB9, 875
01 RXSMBIAESEZ 50, 000 109, 875 A 59, 875
OFHLSAHEEH 22 100, 000, 000& *1IH 2 *50% = 50, 000
[J] 50, 000]
AL MEBAMAS X 975, 000 975, 000 0
308 XAXHHMSOIA 975, 000 975, 000 0
01 XXHMBAEXEZ 975, 000 975, 000 0
OALMEAHFAY K& - 975, 000
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SA 2 AR M}
X XH: R
(=l

A =2 A0 RMHIA 2E
CHol: A= 25 (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[D] 945, 000]
= 30, 000]
g g2 22N 45, 525 45, 525 0
308 AXHMSOIH 45, 525 45, 525 0
01 AUXNHHBANEEZ 45, 525 45, 525 0
OUEY x| = 45, 525
®l 45, 525]
SIHHXAE &L 2 =ZHl KA 1,687,810 1,687,810 0
308 XX HMSOIA 1,687,810 1,687,810 0
01 RXSMIAESEZ 1,687,810 1,687,810 0
O3 UYL EE X 22 HIXA
2,813, 016, 000& *60% = 1,687,810
[D] 1, 406, 508]
= 281, 302]
COIOXIEEAIS XA 509, 940 509, 940 0
308 X HHMSOIH 509, 940 509, 940 0
01 AUXNHHBAEEZ 509, 940 509, 940 0
OLQoIoX EEAME X 849, 900, 000& *60% = 509, 940
[D] 424, 950]
= 84, 990]
XIOISHRIIAtE XI& 222,750 222, 750 0
308 X HHMSOIH 222,750 222, 750 0
01 RXSMBIAESEZ 222,750 222, 750 0
OXIOtEHRIIAIY XI& 371, 250, 000& *60% = 222,750
[D] 185, 625]
== 37,125]
LOoISAZAY K& 12,250 0 12,250
308 AXIHMS0IH 12,250 0 12,250
01 XXSMBIAESEZ 12, 250 0 12,250
Okol=azd TEAMHA 24, 500, 000& *50% = 12,250
(2l 12, 250]
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= A

M w2 BAYRMHIA 7
CHol: A= 25 (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
PUBAMRA(SE+sW) XA 6, 000 6, 000
308 XAXHHMSOIA 6, 000 6, 000 0
01 XXHMBAEXEFZ 6, 000 6, 000 0
OPUEAY 2Y(S42D) - 6.000
[7] 6, 000]
WEH E9Us XN(SI|H BX) 109, 800 109, 800 0
308 AXHHMSOIH 109, 800 109, 800 0
06 wEJII20UstExS 109, 800 109, 800 0
OS2¢US(UERE SAHMY) AL = 109, 800
[D] 109, 800]
TZEHAY EXIXH 131, 250 131, 250 0
408 AtXI XS K=01 ™ 131, 250 131, 250 0
01 XXSHXA=2EX 131, 250 131, 250 0
OFRZEH4 4 K& 262, 500, 000& *50% = 131, 250
[l 131, 250]
AAEAHME XX 80, 000 0 80, 000
308 KX HHMSOIA 80, 000 0 80, 000
01 XXHMBAEEZ 80, 000 0 80, 000
O72ZEHdH AX12Y = 80, 000
[D] 80, 000]
T=XSELSAST AUXE 8,100 8, 100 0
308 X HHMSOIH 8,100 8,100 0
01 AXHHBANEEZ 8,100 8, 100 0
O+%E2 243 2B
13, 500, 000& *2JH 24 *30% = 8,100
[D] 8, 100]
KIS ALSI ZEAL ZPAIALY XT3 250, 000 0 250, 000
307 2I2t0I A 10, 000 0 10, 000
02 QIZtZAE X 10, 000 0 10, 000
OXISALE] ZAH ZAIALS 10, 000, O00R& * 11 & = 10, 000
(2l 5, 000]
= 5, 000]

_17_




SA 2 AR M}
X XH: R
(=l

A =2 A0 RMHIA 2E
CHol: A= 25 (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
308 X HMSOIH 240, 000 0 240, 000
01 AUXNHHBANEES 240, 000 0 240, 000
OXIG AL A ZFAIAFE 30, 000, 000R *16Al 2 *50% = 240, 000
[J] 240, 000]
AolgAeE HAXX& 30, 000 30, 000 0
308 XMXHMSOIA 30, 000 30, 000 0
01 RXNSMIAESEZ 30, 000 30, 000 0
Odolga sl 25, 0002 *6, 000H *20% = 30, 000
Hs=HL0 RIS AL X 65, 340 65, 340 0
308 AXHMSOIH 65, 340 65, 340 0
01 AXNHHBAEEZ 65, 340 65, 340 0
OHs=HLO SE28s 198, 000& *1, 100 *30% = 65, 340
IMEZ2ES ALY XI& 12, 000 12, 000 0
308 AXHHMSOIA 12, 000 12, 000 0
01 XXHMBAEEFZ 12,000 12,000 0
OJI82ts At XI& 2, 0002 5, 000 *43| *30% = 12, 000
SsHEWY A2HEXA 90, 000 90, 000 0
308 XAXHMSOIA 90, 000 90, 000 0
01 RXSMIAEEZ 90, 000 90, 000 0
Os0E 6y AH23d XA
30, 0002 15, 000X *20% = 90, 000
dEgde JAX 43, 860 43, 860 0
308 AXHHMSOIA 43, 860 43, 860 0
01 AXNHHBAEXES 43, 860 43, 860 0
(OFSE=Ful g= PN 146, 2002 *1, 000 *30% = 43, 860
FR0F A2HTALY XA 51, 671 0 51,671
308 XAXHHMSOIA 51, 671 0 51, 671
01 XXHMBAEXEZ 51,671 0 51, 671
OZ 70t HA2HEAS 57,412, 000& *90% = 51, 671
(=2 45, 930]
== 5, 741]
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MEIA 25

- SHRA(SA) - NHRAY - B85

Ol &t

— T

ddE
Off & K

9, 357,000

7,362,000

1,995, 000

9, 357,000

7,362,000

1,995, 000

10, 396, 666, 0002 *90% =

AL

T

9, 357,000

9, 357, 000
5, 976, 000]
3,381, 000]

7,362,000

1,995, 000

249, 000

171,210

77,790

249, 000

171,210

77,790

A AFRI S Al

4 2y -

249, 000
249, 000

171,210

77,790

194, 664

134, 337

60, 327

194, 664

134, 337

60, 327

ro
rz

e Pl =

H
0
[

194, 664
188, 364
6, 300

134, 337

60, 327

2, 568, 000

5,905,518

A3, 337,518

2, 568, 000

5,905,518

A3, 337,518

& 60, 000, 000& *50% =

2, 568, 000
30, 000
2,538,000
1,692, 000]
846, 000]

5,905,518

A3,337,518

00
0%
o
u
or
HL
0

o

672, 000

1, 800, 000

1,128,000

e

i}
oy

448, 000

0

448, 000

M
K%

>
2
[0

[J]

448, 000
448, 000
224, 000]
224, 000]

0

448, 000

224, 000

1, 800, 000

A1, 576,000

224, 000
224, 000

1, 800, 000

A1, 576,000
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A 2219
PN

w:

'
|2 BAASHHIA 7E
2+

EF%’—li’z(\_'F.‘_jd 2| (e & 3)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[J] 224, 000]
XOHZEDJIZEAE K& 34, 850 0 34, 850
308 AXIHMS0IH 34, 850 0 34,850
01 RXSMBIAESEZ 34, 850 0 34, 850
OXIMEINE A K& 69, 700, 000& *50% = 34, 850
[J] 34, 850]
X O &R 22| K& 213, 030 213, 030 0
308 KAXHHMSOIA 213,030 213, 030 0
01 XXHMBLAEEZ 213, 030 213, 030 0
OXIOH &Rt 22| 185, 100, 000& *30% = 55, 530
OTHIIXIOH =@l 22| AFYE 175, 000, 000R *3IH 2 *30% = 157, 500
S32ZMEIA 23t 8, 544, 420 2,980, 458 5, 563, 962
N gd JsELAY 2, 000, 000 2, 000, 000 0
306 EH= 2,000, 000 2,000, 000 0
01 &H3 2, 000, 000 2, 000, 000 0
Oz @ A4 . ZHIEZ = 2,000, 000
[J] 1, 000, 000]
= 1, 000, 000]
Nateg2d SEAS 500, 000 0 500, 000
306 EH= 500, 000 0 500, 000
01 &d3 500, 000 0 500, 000
OMao g2 SAMSH 252 FIHXNE
1, 000, 000, 000& *50% = 500, 000
Ngogd AI 300, 000 0 300, 000
306 =423 300, 000 0 300, 000
01 &d3 300, 000 0 300, 000
OoXNgogd 3 Z4&H XA = 300, 000
Moto|2 @ 2XY(LXN=H) S 900, 000 0 900, 000
401 AlEHIZ 20U 600, 000 0 600, 000
03 EXI0HHI 600, 000 0 600, 000
Otz d O™ OH bl = 600, 000




S SR(B) - NRAY - B S & o Shitr BlRE2
403 XXM S0 A 300, 000 0 300, 000
02 ZSJ12SOICHSHH & AS B 300, 000 0 300, 000
OZAHEHAB(MHA=SK->BEAZAIE) 200, 000
OO0IEEX I @XIOI&(2F 3071) 100, 000
& S A0l AY 3, 500, 000 0 3, 500, 000
XSS AH=01H 3, 500, 000 0 3, 500, 000
02 Z3J|12SOICHSHCH & AS HI 3, 500, 000 0 3, 500, 000
oot g2d M08 &AL 3, 500, 000
[= 1,750, 000]
= 1, 750, 000]
SIS SEAHAAMY K& 480, 000 397, 640 82, 360
XA S0 280, 000 172, 000 108, 000
AXSHHBAEES 280, 000 172, 000 108, 000
Ot XN AEAHA 80, 000, 000& *50% = 40, 000
[7] 40, 000]
OStUHLSEHBE 244 AFE 320, 000, 000& *75% = 240, 000
[l 160, 000]
(& 80, 000]
403 XXl SHMS K201 A 200, 000 225, 640 A 25,640
PADNR=S DNR=IEN 200, 000 225, 640 A25,640
OSHYAHLSE J|82= Argl 300, 000, 000&*2/3 = 200, 000
[D] 200, 000]
|ISd S22AHAS 200, 000 210, 000 210,000
306 £ = 200, 000 210, 000 A 10,000
Eu= 200, 000 210, 000 A 10, 000
OXgozd ZSEHAZ 200, 000
= 105, 000]
= 95, 000]
2 F2AN=AS 400, 000 200, 000 200, 000
E03 400, 000 200, 000 200, 000
£03 400, 000 200, 000 200, 000
OUZBE Y 243 PEAS 300, 000




SRS M )
Nu: A g2 2AY2MUIA 7S
celiZRoIR MHIA 245 2 M2

SA-FH-SA(SN) - HEAMY - BES o Shitr 2
O&gHd 2=AN= = 100, 000
te ol & Xt & XI& 120, 000 60, 000 60, 000
308 AXIHASOIH 120, 000 60, 000 60, 000
01 XXEHBAEES 120, 000 60, 000 60, 000
OXot MEHEX S A&
240, 000, 000& *50% = 120, 000
OhE Y ZAIANRI(QIZIE ) 7,400 4, 865 2,535
307 glztol s 7,400 4, 865 2,535
02 QIZtFAEX 7,400 4, 865 2,535
OBtdd 2 AIALY = 7,400
7, 400]
AAZH W= 17, 760 16, 473 1,287
201 LBr2E| 17, 760 16, 473 1,287
01 AtRzteld 17,760 16,473 1,287
OeHdZd =1 = 7,760
=2 2,160]
< 5, 600]
OBHIZA HRU=S = 10, 000
=2 2,614]
& 7, 386]
SNAEHRZA 2EXA 5,760 6, 480 AT20
308 RXIHHSOIH 5, 760 6, 480 AT20
01 XXEHBAEXR 5, 760 6, 480 AT20
OZANMEHTE A 2HI(8A) 19,200, 0002 *30% = 5,760
AHE S AH (I 108, 500 85, 000 23, 500
307 glztol 108, 500 85, 000 23, 500
01 =¥ ZH] 108, 500 85, 000 23, 500
OLI=222X S ALY = 108, 500
108, 500]
HOoSRAE ZHEE 5, 000 0 5,000
201 LBt2dd| 5, 000 0 5, 000
01 AtRzteld 5,000 0 5,000
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9%’:32—42—9|§/\‘|H|£ 25t (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
ORZBNI (L1, XY = 3, 000
OYFHAA AAZ = 2,000
AlF. 9|9 Ot 2te| 1, 291, 650 1,163, 120 128, 530
SN L AZMate| 5, 650 2,500 3,150
FEANE =AM 2,500 2, 500 0
206 M= Hl 2,500 2,500 0
01 THZHl 2, 500 2,500 0
ORsSAE =HBA = 2,500
HUHSSAMZAIA &=l 3,150 0 3, 150
301 et a3 3,150 0 3,150
12 JIEIEAZ2 3,150 0 3,150
QU= EZTAIZ &S| 35, 0002 30 = 2,100
OYls=/ A W= 35, 00030 *13] = 1, 050
olot, S|z atel 1, 286, 000 1,160, 620 125, 380
S=AZFZEHH 22 367, 000 288, 220 78,780
307 2I2t01 A 367, 000 288, 220 78,780
02 QIZHABAMNSE X 367, 000 288, 220 78, 780
OANZEOHe! MAHE WS = 67, 000
Os2dzd3EHH 22 = 300, 000
[D] 150, 000]
= 150, 000]
sz Jl& NLgEZTZOH 29 KA 550, 000 539, 500 10, 500
308 AXHHMSOIA 550, 000 539, 500 10, 500
01 AXNHHBAEXES 550, 000 539, 500 10, 500
Oss2dzJ& XL T2 = 550, 000
[D] 550, 000]
tEs=s=A E2ES 4,000 4, 000 0
301 LEE A F 4,000 4,000 0
01 AISIEEE252 4,000 4, 000 0
Ooltys ==kt 1283 2,000, 000&*2H = 4, 000
[= 2, 000]
(= 2,000]
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2848 o pmae
HHiojof, ols &t (ctel A&
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
SsHE S22z 01& 21 N 240, 000 210, 000 30, 000
308 AXIHHS0IA 240, 000 210, 000 30, 000
01 AXNHHBAEX= 240, 000 210, 000 30, 000
Os0HE S=S2d3 712 214dl XA = 240, 000
(= 240, 000]
X ¥ SEHX W=F 40, 000 40, 000 0
307 2I2t0| A 40, 000 40, 000 0
05 QItRIEZ 40, 000 40, 000 0
O+x ¥ SsSHAU= = 40, 000
[D] 20, 000]
(& 20, 000]
s0HE S282A2712 AI€ZH X& 80, 000 74,900 5,100
403 XXM SA201H 80, 000 74, 900 5,100
01 AUXISHMAZ2E X 80, 000 74,900 5,100
Os0HE SSAZJ& AIEEH B2 = 80, 000
(= 80, 000]
OlsESsSAd=HE FHl22ltl 4,000 4,000 0
307 2I2toI A 4, 000 4, 000 0
05 QIZt2IEZ 4, 000 4, 000 0
O0l=2=2AZHME FHbl2teltl = 4,000
OI=S=2dASHE e Bz 1, 000 0 1,000
201 et 1, 000 0 1, 000
02 23294l 1,000 0 1,000
O0I=S=S2ABHNE X EE= = 1,000
HE2HZHI(EH 4D 23, 400 20,178 3,222
ol A 5, 400 5, 400 0
FA2EYRFLH 5,400 5,400
203 ZE =&l 5, 400 5, 400 0
04 PARIELRFEYI 5, 400 5, 400 0
OB A1t = 5,400
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